2-2“ R, . N -
- MATH.. . Order of operations
6xle ¢ /.‘/ <

Evaluate each the values given.
9 7
1) m+ﬂ;usem=§, and n =2 2) y+(y+x);usex=2, and_v:Z
n
3 1
3) (p—m)+m;usem=1, andp=5 4) 5(x — y); use x=1, and _v=§
4 4 / | 3
5) —+y;usex=—,and y=2 6)—1+h;useh=—,andj=—
X 5 j 2 2
3 2 |
7)i+q;usep=—,andq=— 8) bla+4);usea=2,and b=—
P 5 5 2
9) 2;usex=i,andy=l 10) 3+y—x;usex=l,andy=i
X 2 2 5
8 | 4
11) 5(v—x);usex=1,andy=§ 12) 5rq; useq=5, andrzg

13) y—(x+x);usex=2,and y=6 1
) ¥—(x+x);usex and ) 14) h+j+j;useh=?aﬂdj:l

5 4 3
15) (6—m)+p;usem=§,andp=§ 16) b+a—Db;usea=2, andb=§
9 o 7
17) 4+ y—x; usex=§, and y=2 18) h(] +]);useh=2, and]=z
1 11 5
19) px%;usen=2,andp=5 20) m3+p;usem=?,andp=§

; 2, — P
21) (j—h)*;useh=1,and j=5 22) q—(p—p)_;usep=2,andq=§

3
1 2 4
23) l;usex:—,and_v:— 24) (c+b)2;useb:—,andc=4
X 2 3 3
5 , o3
25) x(y+2); use x=2, and _v=§ 26) j+3h,useh=2 and j = 2
27) (x+ v)z' usex—l and v—l 28) y+ x+ y; use \’—i and v—£
. - ] 3’ . 2 E ' J 2 v 6’ - 6
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29) 4-(m-p); usem:%, and p=% 30) (m-n)% usemz%, andn=1

31) 6><X;usex:3,andy=2 32) q+r*useq=2andr=1
X

5 3 5 1
33) x+ysusex=—,andy=— 34) 1+abjusea=—,andb="=
4 2 6 4
1 4 1
35) x—é; usex=—,andy=— 36) (j—h)+6;useh:—,andj:E
y 2 3 5 6
1 1
37) m—p; usem=4,and p=— 38) E—m; usem:E,andn:—
p 4 n 2 3
X 2 1 1
39) yx—usex=2,andy=— 40) p’r;usep==—,andr==
)y 1 y=3 ) P P=7 5
2 1
41) é—x; usex:Z,andy:E 42) (q+ p)3; use p=1,andq=§
y
2
43) b—g; usea=, andb=1 42) h—(j—j);useh=1,andj=g
1 2 3
45) 5x 2. usex=2,andy=— 46) n+m% usem=—,andn=—
y 2 5 2
7 4 8 5
47) (4—m)+q; usem=—,andqg=1 48) y—(z—x); usex=—,y=—,andz=—
4 3 5 3
2
49) (q-p)= ; use p=—, and q =~ 50) p-+6q; Use p=-, and q ==
4 3 2 3
2. — —
51) yx+1; usex:%,andyzg 52) y+xusex=1andy=1
3 1 11
53) x—(x-y);usex==,andy=—~ 54) p- 2usep=—",andq=3
2 4 q 6
y? 1 2 6
55) —; usex:E,andy:Z 56) (n+ p);usen=2,and ng
X
1
57) h—jz; useh=1,andj=§ 58) yxi; usex=—,andy=2
5 4 3
1 5 1
59) 4xy; use x =6, and y:Z 60) Fn; usemzl,andnzg
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61) z+z+x;usex=1,andz=2
) Z+zHX usex z 62) a2+b;usea:§,andb:2

1 3 2 4
63 -1)+xusex=—,andy=— 64) j+h-j;useh=—,and | =—
) (y-1) g ady=2 ) ] j i =2

65) (6-m) =+ p; usemzé, and p=1 66) x(3-y);usex=4,andy=1

5 5 3 4
67) a®+b; usea=—,andb=— 68 -X);usex=—,and y=—
) . 5 ) y(y-x) andy=g

7 - - . :2 :2
69)n—m2;usem:%,andn:% 0) p—(a-0);usep=2andq

4 h 5 5 3
71) — —-y,usex=2,andy=1 72) j+—,useh=—, j=—,andk=—
) Y y ) | " o p
1 1 4
73) b(b+a); usea=§,andb:— 74) b’ -a usea=—,andb=—
2 2 4 3
1 5 2
75) m+n+m; usem=§,andn=§ 76) 4+ (x-y); usex=2,andy=§
9 3 7 2
77) p°-q; usep:g,andq:g 78) b+ (2-a); usea:g,andbzg

79 +y, =2, andy=2
) Xy +y; usex ey 80) 2+a+b;usea:g,andb:%

81) 4—m; usemzi,and p:Z 82 3+n+m; usemzl,andn:g
p 6 5 2 3
83) m+-": usemzé,and p:1 84) xz*; usnex:Z,andz:E
m 2 2 6
5 1 3 1
85) (q+q)=r; useq =, andrzz 86) (a+b)~c usea:Z,bzz, andc==
11 1
87) 4—(j +h); useh:§, and j =— 88) (z+x)3; usex=§, andz=—
2 6 3 2
1 4
89) 2—3; usem=4,and p=— 90) (x+y)3; usex:—,andy:g
m 3 5 5
1 4 3
91) p(m+m); usem=1, and p=3 92) q-(2- p); use ng,andq=§
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2
93) (h) ;usehzg, and j =1
J

95) b+(a+ b); usea=1, andb=%

9

p 2
97) —+qusep=—,andg=
)3 q P=3 4=y

99) y(z+x); usex=1y=2andz=2
101) (m?)°+n: usemzl, andn=-
4 5
3
103) (10q—4)+ p; use p = 10, andq:Z
2 1 8
105) —X—y; usex=—,andy=—
X 3 5

1
107) y+ x—(y—x); usex=5, andy=1

109) y(x+ y?); usex=7,and y=4

111) (p+5—m)+ p; usem=g, andp=1

16

113) (y+ y)(y+x); usex:E, andy=1

2 1
115) p —(r+|0);usep:3,ano|r=Z
117) 8—§+a; useazl,andbzz

b 2

119) E—E; usnehzg,andkzE

k h 7 7

121) 3y+x* usex=2,and y=2

5
123) m+27 - p; usem=§, and p=1
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94) 6+m-p;usem=2,and p=2

S

1
96 —x2; usex=—,and y=
) Y 3 y=3

4
98) 5><£; usem=—,and p=1
m 3
. 1 .4
100) h+j+h;useh=—,and j =—
2 5
102) (x+4x) + z; usele, andz:Z
4 5
1
104) (7p—m)+m; usem= 2, and p=§
j 2 12
106) j x 2 usej=5andk=">
k 7
2 5
108) yy“ +x;usex=1,and yz;
11

110) a+a+a+hb; usea=§, andb=—
2 10

12 1
112) h+—; useh=—9, and j=1
] 10

114) 3- P +r ;usep:E,andr:E
p 9 7
2 9
116) (y+2)(z- 1); usey =, andz:E
118) y+y—§; usex=§,andy:1
X 4
120) z- (x - x7); usex:%, andz:%

122) x- (y+x) + x; use x=2, and y:%

124) 8p _ p; usem=1, and p=§
m 7



2 3 o’ 5
125) plg-(a- p)); usep=_,andq=" 126) g T Pusep, andq=2

9 3 4 2
127) 2—x+X; usex=—,andy=— 128) 71y - ﬁ;usex:—,y=3, andz=—
y 5 7 y 5 3
o 3 o1 3 6
129) 2h—j + j;useh=—,and j =— 130) 22—(y+ x); usex=—andy=—
4 2 4 S
1 14
131) 5-p+2+m; useng, and p=2 132) 7—m(m—n); usem=2, andn:E
q 4 11 ,\2 1
133) 6x—+ p;usep=—,andq=— 134 +tzusey=2,andz=—
) 10 T PusepEo andg=-g ) (v?) y 3
8 5 3
135) 4+ (3-(a+b)); useas ., andb=1 136) (5-x)*-v; use x= -, and y=2
1 17 1
137) a(8—c)+a; usea=—,andc=— 138) %; usep=—,andq=5
2 10 ap 5
. .1 m n 7
139) 7h+j—j;useh=5and j =— 140) — - —;usem=5andn=—
2 5 m 4
5 4 3
141) y(x-x¥); usex=>, and y=— 142) (4] +z usey=z,andz=1
16 1 4
143) qx6+(m+ pj;usem=—, p=—,andq=—
) qx 6+ (m+ p) o' P anda=—
3 1 2 2 1
144) x —(y+7); use x =2, and yzg 145) x(y+x) ;usexz? and y:E
2 5 2 m = =
146) h(j + j +h); useh:;,andj =3 147) (6+ p)*+ musem=1, and p=2
11
148) n—(m—n)z; usem=—, andn:E 149) B—E—n; useng, andn:§
6 2 m 2 8
2 7 9
150) 2 —x;usex=§,andy=§ 151) - + p%usep=—, andq="-
y 5 5 p 4 7
_ 6 2 1
152) (y—y)v6+x; usex=g, andy=1 153) 5b° + a; useazg, andb=2
13 13 . . 5 .
154) b +4a%; usea= s, andb:E 155) (] +h+8)+J;useh=Z, andj=2
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156) p+ (p(m+m); usem=1,and p =2
56) p+ (p(m+m)); usem=1,and p 157)n+m+n+8;usem=§,andn=§

1 8
158) (nm)2+m; usemz? andn=2 159) y+y+y-x usex=1, and y:§
. ) 1 19
160) x = (y - y?); use x=2, and y=3 161) q(p+q- p); usep=-,andq=5
' 11 1 2 4
162) 10 - h—l;useh=—, and j =— 163) b—a—; usea=—, andb:E
h 9 3 b 9 2
2 5 2 8 3
164) x? - (x+y); usex=5, and y=3 165) b+a—a;usea=§, andbzz
2 8 5
166) 6|~ ;usex=§,andy=5 167) (8-x+x) =y, usex=—,and y=-

169 -7-{q-0) =10,andgq=1
168) y+5+2; usex=1andy=2 ) P (@-q); use p and q
y

5 1 1
170) (m-n+5)+n; usem=", andn=1 171) 2(b+c-o); useb:Z, andczz
16 1 m 9 2
172) y+(zy®);usey="—", andz== 173) —;usem=—,and p=—
) y+(zy%); usey 5 5 )IO3 3 P=y
2 7 1
174) 4+(a+8) +b;usea=—,andb=1 175) P +g-qusep=—,andgq=—
3 p 6 5
3 4 1 3
176) y—-x+x7;usex=1,and yzg 177) 4-p+p+m; usem:E,and p=§

178) m(9—(n— p)); usem=2,n=2, and ng 179) x3+(3+z); use X = 2, andz=§

1 7
180) p—(2q)2; use p=2, andq:E 181) (1+x)(7—y); usex=g, and y:Z
3 2 1 3
182) m*(8 + p); usem= and p=2 183) 4- (x+y)+y; use x = 7, and y=7
1 6 . 4 .3
184) a(9b - a); usea==,andb=— 185) h+j+(j +h);useh=—,and j ==
3 7 3 2

1 7

186) p(4—m)+m; usem=%and p:E 187) y+x+62; usex=g,and y:E
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188) 6+ j - (h—h); useh:%' and | =1_70

. 5 . 5
190) h(10 + jh); usehzg, and j =5

11
192) 8+z+(z+ y); usey=5, andzzg

1
194) 6r —r +q; useq=g, andrzz

1 1
196) q- p - (m- p); usem=70, p=¢. and q =2

3
197) 10(5) ;use X =2, and z=g
X

2
1
199) 3><y—; usesz, andy=—
X 3 4

1 27
201) x+y+x+10% usex==,and y="—
3 14

n 7
203) m=+ n° +— usem=1,andn=—

m 6
1
3

205) 10y—(x+i); useng, and y =
X

1 7
207) v+ x—-(x-x*usex==,andy=—
) y+x-(x-x) g ady=o

h 1 6
209) j*+— +5useh==,and j =—
h 3 11

1
211) 12x><(5+x)+y; usex=E, andy=2

5
213) 2(14y— x); usex=§, andy=2

19

215) (m+ p) + (210(p + m)); usem="—", and p

14

216) (x+ x)+(y+ y3); usex:%, and y=%

28
15

1
189) X2 + y; usex =, and yzg

191) b—b+§; usea:E, andb:1
a 8 3

193) n—-n+n-m; useng,andnzl

195) x + x(y + y); usex =9, and y:%

. 1 1
198) (5+h+j)+h; usehzz,andj =5

17 5
200 +p+8+qgusep=—,andg=—
) p+p q P 10 q 3

4 9
202) a-—a+b’-a; useas, andb:?

(i) e B 8
204) h-(h-(h®-j)); useh =

206) p—m(m—m)+13; usem:% and p=

2 5
208) J +y+y-xusex=_,andy=—
X 3 4

6

1
210) q- p*+(q- p); use p=,andq=

h 1
212) f—l+k; useh=—
2 7

,jzl,andkzz
J 3

5 26 19
214) b+b- —-ausea=—,andb=—
15 15 10

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

-7-

9
5



217) (p-m)+n-(n-2); usem=§,n:2,and p=2

218) (q+ p)+ (p+ p+6); usep=§,andq=;

220) 11+ y—(x3+4); usex=%, andy=1

221) 3-(r+ p-(q+r)): usep=2,q=1,andr=§

17 1
222) b+6+a=+(a+b); usea =", andbzg

X 7
224) y—|x— —|;usex=—,andy=9
)y( yz) 13

226) X+X—-y+y-y; usex=g, and y=g

227) (11+14-1) = (6+ p); uSEp=2,andr:§

7
228) yx 13+ (6+x - x); usex=8, and =15

13
230) 6+m+(m—n+m); usem=E, andn=

1
231) a+a-(b?+a);usea=1andb=

232) x—y(y—(2+z)); usex=9,y=4,andz=2

14

13’

.19
adj=—

.y, h _
233) (j h) +h,useh— T

2 4
235) 2(14 + p) - (g + 4): =< andg==
) 2(14+ p)-(q+4);usep o ada=

237) (plg+0)) = (q+q); use p=%, and q =

1
238) m2+11(n—m); usem:E, andn=1

11

9

219) zz(z— (y— y)); usey=1—72, andz=2

223) jh+(h-(h-h));useh=2and j=2

1
225) 15x+ x - i; use Xx=—,and z
10 3

17

11

19

220) 5—m—(m ¥ p); usem=" and p=
0 5 11

4
234) 14+ y+X—yX; usex:? andy=2

11

13 1
236) xx —(11-x); usex=—,and y =
y 3 6

239) (y-2)+z+y-zusey=1, andz:i_:
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1
240) x><(x+13)2+y; usex:E,andy:g
k . .
242) (k_T)(k‘l']); usej=2,andk=1
J
244) nsz; uszeng,andnz§
m 5 2
4
246) (143+x—y)+x; usex=§,and y=1
1 5
247) mx (p+11) + m+1; usem=—, and P=3

2438) x+((y+ y)(2—x)); usex=g, andy=2

11 2
250) 2n(m + mz); usem=§, andn =§

252) q(4—qr)—q; useng, andr =2

25

1
254) i’+h-j+juseh==,and =
) ] j+] 5 113

4n? 1
256) Ty +m;usem=1, andn=g

7
258) — —y-— X; usex=2,andy=1
y X

7
260) 52 x Y2 usex =+, y==, andz=—
X 5 2

1

11
262) 12+ x+X-y—-y,usex=—,andy=
) y-vy 5 y 0

29
264) y+y+x-x+12; usex=E, andy=2

266) y(yz)2 + X; useng, and y=§

268) p+m(m—(p— p)); usem=2,and p=1

241) y+x(12° - X); uSEX:% and y=£

243) 3(12-b)(b-a);usea=1,andb :g

15 1
245) p+p’+g-qusep=—,andq==
) p+p +g-q p 1 q 5

249) (6y+ y)+(x+ y); usex:1—73, andy=4

ey =23 _2
251) 2(7(x—z)—z), use x = w andz= 3

253) 22+(c+c) -b;useb=1, andc=§
7
255) x+x+x+y-y,usex=1, and y:Z

13 6
257) 5+14—(p+m3); usem=H, and ng

259) (q-(p-p))(p+15);use p=1,andq=9

(13- (2 +m): _18 =2
261)m.(13 (n +m)),usem 11,andn 3

263) (a(14-1)-b) + a; usea:g, andbzg

265) & —an-j:useh=—- and j ==
h 15 9

267) (10(b + a)) = (a+b); usea=9, and b:g
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10 2
269) m-— 2+(11+3—n); usem=7, andn:;

11 1 1
270) 6-(3-(zy + X)); Usex =72 Y=, andz=-

3 3 21
271) x+ %] +yusex=21 andy=2 272) p+(p+q)+2%usep==,andg="—
y 2 2 13
1 1
273) (3+b)(3a+a); usea=, andbzg
17 13
274) x+(15(y - x) +y); usex=—", and y="—
14 7
1
275) 7—7+10(x+z); usex=33, andz=1 276) z+%; usey=14,andz=2
y
1 5 1 5
277) q(3+15—qm); usem=2, andng 278) n—(n—n)+m;usem:1—o, andnzg
9 1 3 4
279) x— y+ (x=x+y); usex =, and y=3 280) 15x p=+(p+c): use p=, andng
1 21 1
281) (j +8h+h)+j;useh=§, and j =2 282) —5(b2+13); usea=—,andb==
7 a 13 7
2 9 5
283) 15+ p — pm; usem=1—3,and p=13 284) 6(y+x+5+2); usex=1, and y:Z
2 3 18 8
285) (n—m) +n+m; useng, andnzl—3 286) 7+(x+x) -y+4; useng, andy=2
y 1 S 3
287) —><(y+x)+x; useng, and yzz 288) (p+6)(q+ p+4); usep:Z, andg=4
X
2. 3. 1 3 : 9
289) 2x y,usex=g, and y:E 290) y+ y—(x—x+x), usex=g, andy=1
9 2
291) y+—(y+x); usex=12,and y=1 292) 7Tb+b+c-6; usebzg, andc=14
y

293) ((j ~h)?+11) = 5;useh=2,and j =7 204) ¥+ (14x+ y); use x= 2, and y = 2
8

295) h=(j —j)+4-h; useh=§,andj =§
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296) P +m’ - p; usem=—6, n=—,and p=
n 15



297) 5+ (p - mm?); usem=§. and p=§

1 11
299) 72 - lz; usex=—,andy=—
X 2 7

9
301) yx+9y-17, usex:E, andy=2

| 1 7
308) h+j - - useh=— andj=—
h 16 13

1 3

305) (5n)* + m* usem="-, andn=—

6 10

307) 13(x+14) - (5-y); usex:%, and y=§

7
309) x— x+ (8x+y); usex =, andy=1

311) (16 -(j +j)) + h%; useh:%, and | =%

p 3 23
313 +20x—+qusep=—,andq=—
) P q q P 5 q 20

315) p+18+(m+ p+ p); usem=4, and p=g

316) x((y+z)2—x); usex:%, y=1, andz=g

13
318) (x+ x)+ y X y2; use x =2, and y:1_6

4 2
320 - : =2 q=% and
) (@+r)= p(p+q);usep 3475 adr

25

6
321) (8(b-1)+c)+ 9 useb=—, andc=
) (8b-1)+c)+ 0 useb=— and o=

11
323) 15+ 2 - 2. ysea=2 andb= 1t
b a 9

4 3
325) 13% - x+(y+ y); usex:g, and yzg

12 12
298) q° = (8- (p-q)); usep= andq=—

300) (x—y) y+z ; usex:E, and y=Z
y 3 6

. . 13 .2
302) 14+ (j + 14 +hj); useh:E, and | 25

4 2
304) b+171—(b—a); usea=—, andb=—9
3 20

306) (150 + x) = (5 - y); usex:%f, and yzg

4 5 1
308) px— — B; usem=—,and p=—
m m 4 7

17 1
310) 4+(x-y) +x+y,usex=—,andy=—
) 4+(x=y) +x+y o 4Y=7

312) 9(j +j+h-j); useh=§,andj=18

11 10
314) (x-x?+x+y usex=—,andy=—
) (x-x) y 5 dy=2

n 1 S
317) m+11-m- —;usem=—,andn=—
m 5 3

21 4
319) (x-y+1)=y*usex=—,andy=—
) (x-y+1)+y oo M9Y=g

2

322) 18(p + ?p); use p=§, and =

324) 3x(j+16+h)+j;useh=2,andj =1

326) zx (x+z+x) +8; useng, andz:%
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24 33 8
327) (y+ X=X+ y)+x; usex=1—3, andy=11 328) m+n+ 144n; usem:E, andnzﬁ

3 29 y 8
329 +p+-p+4+qusep=—,andg=— 330 +12;usex=2,and y=—
) (p+p)+p g usep=_,andq="_ ) Heex Y=g
9 25 25
331) xx (x-13); usex=19, and y =~ 332) 7x(q+q)+ p*usep=—,andq="—
X 5 13 17
12 21 5 1
333) v+ (x(6 - rusex=—,andy=— 334) a~+ b+b2+a;usea:—,andb:—
) v+ (x(6-y)) o ady=T] ) a+(b+b) 5 3
22 1 4 2
335) x+17—(y2)2; usex=-—,andy=— 336) 9+(x+ y—y) +y,usex=—,andy=—
13 4 3 3
m 3 3 9 8
337 -m+—+pusem=—,and p=— 338) (h+7+h-j)+j;useh=—,and j =—
) p L P Jand p=> ) ( i)+ 4=
339) (18(m2+3))+n; usem:g,andn:16
1 1
340) x+(x+ y)+(y—x); usex=§, and y=§
341) (x—z—zx)+z; usex=1, andz=i
2 14

342) n(17+(m+ 19)+m); usem=%, andn:%

2

1 2 1
343) q+15—r—; usep:—,q=—8,andr:—
p 2 19 4
8 1
344) 2+a- (a-c)+bjusea=1b==,andc=—
7 12
17 25 " 3 .
345) x(x+ y+ y+x); usex=—,andy=— 346) j(] +1—h)—h; useh=—,and j =8
18 13 2
2 3
347) 5- (2+m)+n3; usem=—, andn=§ 348) 3|x - Y ;usex:E, and y:i
3 7 16 9 13
7 1 10 12
349) y[— - x*|;usex=1,andy== 350) 6{8-8x 2| usem="", and p=—=
y 2 m 9 11
3 17
351) p+{p*-(p-m));usem=-—, and p=—=
) p=(p*-(p-m) o @dP=0
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2 13
352) gx(p+11-p)=p;usep=—,andqg=—
) g% (p p)+ p; use p g ada=_

353) m+ (5-n(5-m)); usemz%, andn:%

10
355) 18><x+(y+ x—3); usex:7, andy=28

15 5
357) y+19-z- 5; usex=—,y=1, andz=z
X

11’

1
358) 11+ b*(a-b); usea=1, and b=

359) (p+3-m)(n+ p); useng,nzg, and p=1

3 2
360) 2+15—x2+y; usex=—,andy=—
11 5

362) 2><10p+(q— p); usep=§,andq=1

13 1
364) 15y + (11 + x +y); usex =", and y ="

5 1
366) b+a+10+2-Db; usea=;, andb=§

k 33 27
368) —(6-\k-k)); | =—,andk=—
) Ko (k=) use =2, antk=Z]

370) 19(q+q+ p?): useng, andng

372) 12-(b- a+(a+a)); useazé, andb=1

8 16
374) x+x-x-v?): usex=—,andy="—
) ( y) - y=17

. . 3 . 4
376) j>+h=+j%useh==andj=—
4 3

36 29 5
378) 2-m+—;usem=-—,andn=—
n 15 4

354) j+(8-3)+8huseh=19,andj=1

1 13
y susex=—,andy=—
26X 3 8

356) 9 -
1

2 5
361) m(n-n+m?); usems= -, andn=§

363) X +x—(z—9); usex=17,andz=11
z

2 11
365) 16y x 2 usey=—, andz=
y 3 6

7
367) x-y+17y-x;usex=1, and y=E

369) m£ +9+ p|; usem=i, and ng
13 19 17

371) (y2+7)+(x+ x); useng, and y:%

2
373) 10 +X;usex:1—3,andy=£
2 X 11 11
9 23
375) (12+b) = (a+a%); usea=—, andb==>
19 18

14 4 6
377) y-y+— +20;usex=—,and y=—
X 5 5

q 5 12
379 +p-—usep=—,andq=—
) PP 50 P 4 g 11
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_w

17
380 +10-(10+ p—m); usem=—, and
) p (10+ p-m) % 5

381) (x—(x-2)(y-x); useng, y =18, andz=§

1 1
382) 12°-(b-a)% usea=—,andb=—
19 18
2 21 12
383) lI9-lm+ +\4-p/;usem=—, p=—, an =
) (9-(m+q))+(4-p) 1o PT g A= 1]
1 14 10
384) 72+y+x;usex=—,andy=— 385) 4y8+5;usex:1, andy=—
3 13 y 19
21 7 6
386) (p+g)°-(r+q)usep=—=,g=—,andr =—
) (pra)~(r+a)usep="2.a=¢ 5
1 1
387) (11+h)*+(3-j); useh:—g, and | -9 388) 19b” - (b + a); usea=>, andb =
16 7 6 10
11
389) m’g” + p; usem=§, P=— andq=7
1 37 3
390) y+(x(z+y+Xx)),usex=—, y=—,andz=—
) y+(x(z+y+x) T -
11 14 7 7
391) (X+Xx)+y—-——usex=—,andy=— 392 -6lx—XJ;usex=—,and y=2
) (x+x) =y = 2 g ddy=g ) xy - 6(x~x) g andy
n 6 7 1
393) n+——(n—n); usem=—,andn=— 394) p(5+ p(m—l)); usem=6,and p=—
m 5 20 2
n m 7 2 1
395) E+12x? useng,andnzl 396) p —(q+14—q);usep=6,andq=§

397) 20+ (6-j) —(h-j);useh=1, and j =g 398) y+ (y+ y)(x+4); useng, and yzg

17

399) (yz)z—(x—x); usex:%, andy=1 400) (b+a)+a—(b—b); useazé, and b= 15

1 1 4
401) (13mn? +23) + m; usem =2, andnzg 402) x(y+y+9-vy?); usex=-, and Y=g

S 1 1
403) 30+h—J—(J+j—h);useh=§,andjzg
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404) (m+6)+m? = (p+m); useng, and p=§

30 3 4
405) 2420 -y) - iUy, andz:g

406) qx (17 +0q)+ p- p% usepzl,andCF%

15 8
407) x+y+x—-(x+y)+y usex=—,andy=—
) x+y+x—(x+y)+y 5 Y=

408) y - (y(8— x)) +22% usex:%, and y=15

2 1 16
409) (jlh+h)+k)+=21j:useh=—, j =—, andk=—
) (j(h+h)+K) j; use 131 27an I

410) a®+(12(a+c-b)); usea=1, b=;—i, andc:%

16 2
411) — +£2 +y,usey=2,andz=—
z z 11

412) j-(h+(j - )+ (28 -20)); usehz%, and j =2

10 1
413 +m+p+ +m);usem=—,and p=—
) p p+p(p+m) 4P

39

N9
414) (18m(n+n))v(n m), usem—zo,andn 0

415) (yy?) = (20+x) +v: usexzé, and yzg

216) 3~ (p-(a-(p+ p));use p=—, and g =
q 12

3
1 41 7 1 27
417) 100 —(x—x); usex=-—,andy=— 418) 15+—0 +y+x-y,usex=—andy=8
18y 27 30 y 22
i\? 20 20 i
419) — + |1} suseh== and j =2 420) -~ +j+7j;ueh=1,and =7
8 27 13 h
1 1 1
421) a+b2(14—2b); usea=3—, andb=— 422) 11 13y+x—l;usex=§, andy=—
29 7 23 29 6
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423) (25-m?) +n - (14 -n); usemzl, adn="2
5 15

424) (p+ p+ p) = (m(p + 20)); usem=%, and p=g

23 38
425) x(y+ 9)+x+—; use x =14, and y:g
y

426) (p+q)+(q—12)2 + 24; use p=g,andq=21
Y uex=28 = _u
427) 26(x+2)(z+ y); usex—ll,y—l, andz= 5

4
428) x - y? + 702 usex =, andy=2

. wsex=2 v23 gdz=2
429) 19y—(y— xf(z+y)),usex— 7,y 4,andz %

27 7
430) a+ 19(b+a)—9+a; usea:a, andb=z

431) 172 - P - 2. usep:Z, andq=§
q 4 30

432) (h+j-j)+h+h-j;useh=21,andj=1

433) (3y)2+(x+ 10) - X; useng, andy=2

434) (6+1)(p+18+m- p); usem=1, and p=1—53

29 43 12
435) (hn-n)®+— usen=—, and p=—
27p 30 17
10 38
436) x+8+(y+17-y—x));usex=—,and y=—
) (y (y-x) oy Y=o
X 27 37
437) 3° +X)— —usex=—,andy=—
) 3y +x) § oy Y=

439) (p+q>+(p—(p-1»-q;usep=j—;andq=z
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439) 17 +q- (p+ p) + 29p; usep=§—2,andq=%

440) (7(x + 26)) + (20(y + 19)); use x = ;—i and y = %

29 14
441) (24y(x - y)) + 2v: =22 andy=—
) (24y(x - y)) = 2y; use x g A9V

1 7
442) b+b-a+ a+(a+24); usea=7, andb:g

443) 20(x+ (y-x) - y) - y; usex=1, and yzg

43 9 4
444) x+30(x +y) - 3% use x =, and y=e 445) (m+m) + m(6 - n?); usem =, andn=2
X 11 21 5 2
446) 9+— +y+y,usex=2,andy=— 447) 8-11lp+p)+—;usem=—,and p=—
) 9+~ +y+y Y=15 ) (p+p)+— 5 @dpP=o
7 8 5
448 10-2))+z-y+x;usex=—,y=—,andz=—
) (10-2) 2= (y+x) usex=1,y="5 and 2= >
449) m3+n+n><2;usem=1,andn=§
1 25
19 17
450) x—x+(17(9—y))+x; usex=-—,andy=—
15 9
47 35
451) (26-(j +h))+=(h+h+30);useh=—,and j =—
) (26 (j-+ 1) (n+ h+ 30) useh =20 and =
X 2 4
452) 21 x— -6y ;usex=1,andy=—
y 19
25 17
453) x+x+y+(810-x);usex=—,andy=—
) y+ ) 3 Y=g
454) 2j“+h—j ,useh=§,andj=17
3 3 9
455) \q® - q)+29pr;usep==,q=—,andr=—
) (o° - ) = 20p P=2.a=5 10
4 13 2 26 5
456) (b-b%(a-a)+b;usea=—, andb=—> 457) pxP(m+29); usem==2, and p=—
13 25 p 17 16
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458) 23 - X+(x+x)2; usex=1, and y:% 459) P —(q2+ p—q); usep=14,andqg=
X q

9 27
460) (15x(27 — x — Ty usex=—,andy=—
) ( X( X Y)) y, usex 20 y 14

2

461) x(23—x— y—); use x =, and y=2 462) axE(b—ab); usea=>, andb=>
y 13 a 8 5

8
463) n-n+m? - (16 - 8); usem:9,andn:§

464) x—(z3— (17—17)+x); use x = 29, andz:;—g

28 9
465 _21 - = 3; =—, d -
) (p ('“ “')) p;usem 29 ana p 5

466) 27—(5 - y—(y—y)); usex=1,ady=1
y

18r* 1 11
&r ;useq:%,andrzz 468) yxﬁ+11;usex=—,andy=—
19 5y 4

467)
14

13 3
469) (p++p) = (q+ p); use p=—-andq=—_

470) 32+z—y—23; usey=2,andz=2

1
471) b+11+a-(a-a)- & useazg, andb:l_(ls

23 25
472) h— h=(j+j—-j+j)useh=—,and j =—
) (J I J) 12 : 19

473) 20+ (26(j +K)) xz—;; use j :g, andk=1

10 27
474) x - (x - 30)+ y;usex="—,andy="—
) x=(x=x) +(y+30) = y; usex ady=T

m n 11 28

n m 5 29 2
475) m+— -m+—;usem=—,andn=— 476) zgxﬁ_ P ;useng,and p:Q
30 \m 2 11

1
477) 24-m-(2- ) usem="2 andn=12
20n 16

11

14
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12 14
478) X+ X— (13y2)+13; usex=—,andy=—
7 23
2 13 3 2 39
479) y(x+x)(x+x); usex:?, andy=2 480) x° —xy“;usex=2,and y:2—5
p p 9 2 3 19 17
481) —(27-q)—- —;usep=—,andq=2 482 +(X-y) +19; usex=—,andy=—
)28( q)q p=o5adg ) y2+(x-y) 5 4Y= g
2 2
483) x+9y+(25(x—y)); usex=2—§, and y=§

484) ((p-m)(19+6-14) + m; useng—z, and p=27

3 5
485) 15— (j +10) - (h?)% useh=—, and j =~
) 15-(j +10) - (h?)* u g adi=y

486) (y+2)+(y(10—z)+x); use x =1, y=%, andzzg

487) (27y)? +x - (x - y); usex=1, and y=2_23

- 2' —§ :3
488) (q+6+25) = (1+r2): useq—zg,andr I

489) n-— (8(n—n))+(21—m); usem=%, andn=1

1
490) 2 +2 +16-x usex==, and y=1

16 27
491) (26 - 2 = 27 -vy): =—, andy=—
) ( Y) (X+ Y) use X 1 anay 2o

11 7 10
492 +x+ +zz; usex=—,y=—,andz=—
) o y 10 y 20 11

493) ¢+ (b(a-c+ 15h)); usea=1, bzl—o, and =
23 17

494) (m-4)?+ (30 + mp); usem=8, and p:li9

495) h+(h-j) -(j+h-j); useh:1,andj:§
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496) (28—y)+(24—x—(y+ y)); usex:1—73, and y=10

3 3
497) 8m-n+ 14+ (11 +n); usem =, andn=>

4 1 9
498) 10(m+ 7n) - m+ 23; usems= -, andn:§ 499) (z3y2)+z; usey="_ ., andz=19

500) (y+y+x)(y - 22x); usex=1—17, and y:%
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Evaluate each using the values given.

n 27 7 7
1) m+:—’;usem=g,andn=2 E 2) _v+(v+x);usex=2,and_vzz l_‘i
31
3) (p—m)+m;usem=l_,andp=5 > 4) 5(x — y); use x= l,and_v=§
4
4 4 / 1 35
5) —+y;usex=—,and y=2 6) —1+h;useh=—,andj=— —
X 5 j 2 2 6
7
q 3 2 16 1
7) —+q;use p=—,andg=— — 8) bla+4);usea=2,and b=—
) rowep=gadg=2 o ) bla+4) >
3
Sy 3 15 1 11
9) TJ;usex=5,and_v=5 3 10) 3+y—x;usex=l,andy=§ 3
8 1 4
11) 5(v—x);usex=1,andy=§ 12) 5rq; useq=5, andrzg
3 2
13) y—(x+x); x=2,and y=6 5
) y=(x+x)usex=2 and) 14) h+j+j;useh=l,andj=l —
2 2 2
5 4 13 3
15) (6—m)+p;usem=—,andp=— — 16) b+a—b;usea=2,andb=—
3 3 4 2
2
9 21 o 7
17) 4+_v—x;usex=§,andy=2 < 18) h(1+]);useh=2,and]=z
7
1 11 5 1691
19) px%;usen=2,andp=5 20) m3+p;usem=?,andp=§ 16
1
. \2. _ . 55
21) (/ h) ;useh=1,and j=5 22) g—(p—p);use p=2,and g == >
16 33
1 2 4 256
23) l;usex:—, and y=— 24) (c+b)2;useb:—,andc=4 —
X 2 3 3 9
2
5 22 3 15
25) x(_v+2);usex=2,and_v=§ EY 26) j+3h;useh=2,andj=5 -
1 1 25 1 11 23
27) (x+ »)% —— and y=— — 28) y+x+y;usex=—,and y=— —
) (x+ )% use x yady=2 = ) ¥+ x+ y;usex cand y=— —
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4 4
29) 4-(m-p);usem=—, and p=—
3 5
31) 6><X; usex=3,andy=2
X
4
5 3 5
33) x+ysusex=—,andy=— —
) Y 4 Y 2 9
35) x- X usex=1, andy=o *
y 2 3 8
1 63
37)m—p;usem:4,and p== —
p 4 4

X 2 4
39) yx—usex=2,andy=— —
) yx7 y=s 3

41) = - X; usex =2, and y:g
y 5
3
43) b - E; usea=g, andb=1
2 3

winN

1
45) SXE; usex=2 andy==
y 2
20
7
47) (4-m) +q; usem=- andq =1

S

5
49 -p)=q; =—,andqg=
) (- p)+q usep 4an q 3

2 2 19
ol +Lusex=—,andy=— —
) ¥ S Y 3 15

3 1
53 — — : =—, d -
) X (X y) useXx=—,andy=—

2
55) y—; usele,andyzz
X 2
8
16
57) h- % useh=1,and j =~
5 25

1
59) 4xy; use x =6, and y:Z
6

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

N e}

N

N

7 9
30) (m—n)z; usem=—,andn=1 —
4 16

32) q+r%useq=2,andr=1
3

5 1 29
34) 1+ab;usea=—,andb=— —
6 4 24

36) (j-h) =6 useh:%, andj=— —
38) > -m; usem:E, andn=
n 2

1 11
40) p’ryusep=—,andr == —
) P Y 5 > 8

27

42) (q+p)*usep=1andq= o

N |

44) h—(j‘j);USEh:Landj:g

1
46) n+m2;usem:§’andn:§ %
5 2 50
4 8
48) y-(z-x);usex=—,y=—,andz=—
3 5
3 2 11
50) p+6Q;usep=—,andq=— —
) p+6q; use p 5 a=3
52) y+x%usex=1andy=1
2
11 11
54) D—E;usep=—,andq:3—
q 6 9
6 256
56) (n+ 2; usenzz’and - -
) (n+p) P=1 o
X 1 1
58) yx—usex=—,andy=2 —
) ¥ 4 3 y 6

o
oo

5
60) Fn; usem=1,andn=
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6l) z+z+x,usex=1,andz=2
5

N w
N | w

63) (y—1)+x; usex:%, andy=

2
65) (6-m) =+ p; usemzé, and p=1 58

67) a’+b; usea=g, andb =

w o
wlo

1 1 17
69) n-m% usem=—,andn==- —
6 2 36
4
71) — —y;usex=2,andy=1
X
1
1
73) b(b+a); usea=§,andb:—
2 2
1

1 5 7
75 m+n+myusem=—,andn=— —
3 3 3

9
77) p’-q usep=o andq= -

79) xy+y,usex=2,andy=2

6
81) 4- m; usemzl, and p:Z 163
p 6 5 42
11
83) m+£; usemzé,and p:1 —
m 2 2 6
5 1 20
85) (g+q)+r;useq=—,andr=— —
) (a+q) =7 > 3
3 11 2
87) 4—(j+h);useh=—,and j =— —
) 4=(j +h) S and ="

1 23
89) 2- B; usem=4,and p=— —
m 3 12

91) p(m+m); usem=1, and pzé

1

41
62) a’+b; usea:% andb=2 6

. . 2 .
64) j+h—j;useh:§,andj =

Wb
w (N

66) X(3-y); usex=4,andy=1
8

4
25

ol b

68) y(y—x); usex=§, and y=

70) p-(q-q);usep=2,andq=2
2

. h 5. 5 3 125
72) j+—useh=—,j=— andk=— —
k 3 4 4 36

1 4 55

74) b’-ausea=—,andb=— —

4 3 36

76) 4+ (x-y); usex=2, and y=§

3

7 2 10

78) b+ (2-a);usea=—,andb== —
5 3 9

3 3 17

80) 2+a+bjusea=—,andb=— —
2 4 4

1 2 25

82) 3+n+myusem=—,andn=— —
2 3 6

5 25
84) Xz usex=2,andz=— —
6 18

3 1
86) (a+b)+~c usea=2, b:? andc==
7
1 2197

5
88) (z+x)3; usex=—,andz=— ——
3 2 216

4 9 2197
90) (x+ 3; usex=—,andy=— ——
) (x+y) cady=c o

3
10

N | w

92) q-(2- p); use ng,andqz
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h\? 8 . .64
93) -] ;useh=—and j=1 —
J 5 25

95) b+(a+ b); usea=1,andb=

N

1
3

p 2
97) —+qusep=_,andq=— —
)3 a P 3 q 5 45

99) y(z+ x); usex=1y=2andz=2
6

1 9 36869
101) (m?)°+nusem==, andn=> o0
4 5 20480

7

103) (10q—4) + p;use p=10,andq= 20

Nlw

o] o
onN

2 1
105) X —y,usex=—,and y=
X 3

1
107) y+ x—(y—x); usex=§, andy=1

1
109) y(x+ y?): usex=7,and y=4
92

111) (p+5—m)+ p; usem=§,and p=1 254

113) (y+ y)(y+ x); usex:%, andy=1 590

23

115) p?~(r+ p);use p=3,andr = o

AP

1 11
117) 8- E+a; usea=—,andb=2 —
b 2 2

k k 3
119) — - —;useh=—,and k=
k h 7

~N N
WP

121) 3y+x* usex=2,and y=2
10

5 83
123) m+27 - p; usem=§, and p=1 ry

94) 6+m-p;usem=2,and p=2
6

5 14

1
96 —x2; usex=—,and y=
)Y 3 y 3 9

4
98) 5><£;usem:—,and p=1
m 3

. 1 .4
100) h+j+h;useh=—,and j =—
2 5
1
102) (x+4x) + z; usexzz,andz:— —

104) (7p—m)+m; usem= 2, and p=%

2 12 875
106) j x 2 usej=5andk="2 -7
K 7 12

5 468
108) yy?+x usex=1,andy=— ——
) vy y 7 343

11 28
110) a+a+a+hb; usea=§, andb=— —
2 10 5

12 1 139
112) h+—; useh=—9, and j=1 —
J 10 10

114) 3—(£ +r);usep=£,andr:
p 9

~N|o
~ | oo

116) (y+ z)(z— 1); useyzé, andz=

o | ©
RS

118) y+y- 5; usex=§, andy=1
X 4
1

1 11
120) z—(x—x3); usex=—,andz=— —
2 2 8

Mlw

122) x - (y+ x)+x; usex=2,andy=

N |

124) 8p _ p; usem=1, and p=§
m 7

3
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RN

2 3
125) plg-(a- p)); usep=_,andq="

9 3 6
127) 2—x+X; usex=—,andy=— —
y 5 7 5

o 3 .13
129) 2h—j + j;useh=—and j =— —
4 2 2

1
131) 5-p+2+m; useng,and p=2

q 4 11 259
133) 6 x— + T use :—,and - /=
) 10 PP 9% 120
8
135) 4+ (3-(a+b)); usea =, andb=1
10
137) a(8—c)+a; usea:il andczg LS
2 10 20
L 1
139) 7h+J_J;USGh:5,andj=§
35

141) y{x-3): usex:g, andy=—

143) q><6+(m+ p); usem:%s, p=—,andq

144) x®-(y+7); usex=2, and y:1
6

146) h(j + j + h); useh=%,andj == =
148) n—(m—n)z; usem:E, andn=— —
2
150) (2) - X; usex:g,andy:—
y 5

152) (y—y)+6 +X; usex=§, andy=1 2

13 13 21437
154) b+4a% usea=—,andb=— =~
8 9 1152

2
126) q——p; usep:§,andq=2 3
q 4 4

4 2 82
128) 4y - l;usex:—, y=3 andz=—
y S 3 45
3 6 41
130) 2° - (y+x);usex=",andy=— —
) 2% (y+x) pady=c

14 55
132) 7-m(m-n); usem=2,adn="" ~>

134) (y2)2+z; usey=2, andzzé

48

3 41
136) (5—x)2— Y usex:E, andy=2 "

138) %; usepzi, andq=5 o
ap 5 5
13

m n 7
140) — - —;usem=5andn=— —
5 m 4 20

3
142) (E) +Z usey=%, andz=1 468
y

343
216
121
2 1 338
145) x +x2;usex:—,and ==
) (y ) 7 Y 3 3087

147) (6+ p)*+~m usem=1,and p=2

64
n 3 5 47
149) 3 - —-njusem=—,andn=— —
m 2 8 24
7 9 2977
151) 3+ p2usep=",andq=>
p 4 7 784

1 61
153) 5b® + a; usea =, andb=2 =

. . 5 . 45
155) (] +h+8)+J;useh=Z,andj=2 N
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156) p+(p(m+m));usem=1,and p=2 ;

1
158) (nm)2+m; usem=§, andn=2
2
. 2 1
160) xT(y—y ); use x =2, and yzg
9

162) 10—(h— l); useh=%, and | =% 89

h

5 55
164) x2—(x+y); us;ex:5,andy:E ?
2
3
166) 62| : usex==, and y=5 >
y 4 8

9
168) y+5 +2;usex=1,andy=2 5
y

99

5 21
170) (m-n+5)+n; usem=-, andn=1 -

16 1 81

172 +23;use =—,andz=— —

Y% (y) y=75 > 108
2 19
174) 4+(a+8) +b;usea=—,andb=1 —
3 13

Wb

176) y—x+ x>, use x=1, and yzg

178) m(9 - (n- p)); usem=2,n=2, and ng

180) p- (2q)2; use p=2,andq :1

2
1
2 80
182) m(8+ p):usem==,and p=2 —
) m(8+ p) 3 p=2
1 6 155
184) a(9b-a);usea==,andb== ——
3 7 63
1
186) p(4—m)+m' usem:—'and p:E =

5 5
157) n+m+n+8§; usem=§, andn=§

13

© | o
w | o

159) y+y+y-xusex=1andy=

161) q(p+q- p); usep=%andq=5

25

2 4 665
163) b—a—; usea:—,andbZE —
b 9 2 486

275
165) b+a-a% usea=§, andb=> 21
9 4 324

NN

167) (8- x+X) +v; usex:% and y=

169) p-7-(q-q);use p=10,andq=1
3

171) 2(b+c-o); useb:%, and c =

N
N

m 9 2 1125
173) —;usem=—,and p=— ——
p 8 5 64

1

175) E+0|—q; usep=z,andq=
p 6 5

1

N | w

177) 4—p+p+m; usem:%, and p=

179) x3+(3+z); usex=2,andz=

N w
o5

181) (1+X)(7-y); useng, and y=£
14

1 3

183) 4—(X+y)+y; use)(:g,andy:Z
— 4 _

185) h+j+(j +h); usehzg,and] =2

3
187 +x+62;usex=—,and =—
)y 2 y 5 10

32
5

N | ©

23
9
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188) 6+ j — (h—h); useh:%, and j =—

. 5 )
190) h(10 + jh); usehzg, and j =—

1 419

192) 8+z+(z+y); usey=5andz= =

1
104) 61 —1 +q; useq =, and r =
2 2

4

1
196) q- p - (m- p); usem:70, p==,andq=2 —

3
197) 10(5) ;use X =2, and z:g
X

2

5 9
199) 3><y—;usex:—,andy: —
X 3

80

NG

_ 27 4309

1
201) x+y+x+10% usex=—=,and y=
3 14 42

n 7 559
203) m=+ n® +— usem=1, andnzg
m

294

1 182
205) 10y - x+i;usex:g, andy=— ——
X 5 3 135

1 7 32
207) v+ x—-(x-x*usex==,andy=—
)Y ( ) 3 y 11 33

. h 1 ., b6 762
209) j?+— +5useh==,andj=— ——
h 3 11 121

1 152
211) 12xx |5+ Xx) - yyusex=—,andy=2 —
) (5+x) +y o ady=2 —o
X 5 1095
213) —(14y—-x);usex=—,andy=2 ——
)4( y ) 8 y 256

19 28
215 +{10 : =— and p=—
) (m+ p) = (10(p+ m); usem= 12, anc p= 27
11 1 5632

216 + 3). =— andy==
) (x+x) (y+y)use>< g ady=g oo

1 5 128

189) X2+ yusex==,andy=— ——
) y 3 y 3 27

6 5 1 48

191) b-b+—;usea=—,andb=— —
a 8 3 5

193) n—-n+n-m; useng,andnzl Z

63

195) x + x(y + y); usex =9, and y:% >

. 1 1
198) (5+h+j)+h; usehzz,andj =5

12

17
200) p+ p+8+q; use pzl—o,andq:—

4 9 2273
202) a-—a+b’-ausea=—,andb== =~
5 7 1715

s e 138 1555
204) h (h (h J))’useh 12’andj 7 12096

74

206) p-m(m-m)+13, usem:% andp=

o]

y 2 5 89
208) — +y+y-xusex=—andy=—
) X yry 3 y 4 24

6 29

1
210) g- p?’+(g-p)use p==,andq=
) g- p*=(q-p);usep oada=c o

95

42

h 1
212) f—l+k; useh=—
2 7

,jzl,andkzz
J 3

26

5 26 19
214) b+b- —-ausea=—,andb=—
15 15

15 10

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

-7-



S
28

N | w

217) (p-m)+n-(n-2); usem:%nzz,and p=

218) (q+ p) = (p+ p+6); usepzl, andq:1 L 219) Z(z-(y-y)); useyzE, andz=2
3 3 10 7
8

9919

9
220) 11+ vy- x3+4;usex:—,and =1
) y ( ) 11 y 1331

221) 3-(r+ p-(q+r)): usep=2,q:1,andr=§

2
17 1 1331 223) jh+=(h=lh—-h));useh=2,and j =2
222) b+6+a+(a+b)usea=—,andb== —— ) ih=(h=(h-h) J
11 3 186 2
7 8917 1 17 1709
224) y - X—Lz;usex:—, andy=9 ——— 225) 15X+ X - - usex=—,andz=— —
y 13 1053 10 3 11 330

3 3 3
226) X+ x—-y+y-y usex=—,andy=— —
) y+y-y 5 y=5 5

2 73
227) \11+14-r)+\6 ; =2, andr=— —
) (1+14-1) (6 + p usep=2,andr =2

7 91 4 19 420
228) y><13+(6+x—x); usex=8 andy=— — 229) 5-m- m+p;uszem=—,and p=— ——
10 60 p 5 11 209
13 5 188
230) 6+m+(m—n+m); usem=—andn=— ——
10 4 27
1 63
231) a+a-(p®+a);usea=1,andb== —
8 64
232) x—y(y—(2+z)); usex=9,y=4,andz=2
9
h 14 19 39394 4 108
233) (j-h)*+—useh=—,and j=— ——— 234) 14+y+x-yxuex=—,andy=2 ——
)(J ) h 13 J 15 38025 ) y ¥ 7 y 7
2 4 344 13 1 11 832
235) 2114+ p)-lg+4);usep=—,andgq=— — 236) xx—(11-Xx);usex=—,andy=— —
)(p)(q)p15q35)y() g ady="2
2 11 2
237 + +lg+qg)usep=—,andg=— —
) (pla+q))+(a+q);use p g ada=o
1 331 14 29
238 m2+11n—m;usem:—,andn:1 — 239 -z)+z+y-zusey=1 andz=— —
) (n-m) 5 - ) (y-2) y y 210
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1 6 1215 2 7 3503
240) xx (x+13)*+y;usex=—,andy=— ——— 241) y+x\12°-x);usex==,andy=— ——
) xx(x+13)*+y pady=c — ) y+x{ ) g ady=,
k . . 3 3 63
242) (k—f)(k+j); use j =2 andk=1 243) 3(12-b)(b-a); usea=1, andb=> "
J
12 9 3 15 1 390
244) n® x —=;usem=—, andn=— 245) p+p°+q-qusep=— andq== ——
) m 5 2 ) prpra-g P 11 g 5 121
15
4 215
246) (143+x—y)+x; useng,andyzl Py
1 113
247) mx (p+11) + m+1; usem=—, and p:E —
2 9 9
3 3 13 196
248) x+ ((y+y)(2-x); usex:E, andy=2 2 249) (6y +y) = (x+vy); usex:7, andy=4 s
11 2 209 2 2 37
250) 2n(m+ mz); usem=—,andn=— —— 251) 2(7(x—z)—z); usex:—3, andz=— —
8 9 144 14 3 3
2 10 1
252) q(4—qr)—q; useng, andr =2 o 253) 22+(c+c) -b;useb=1, andc=§ =
1 25 3125 7
254) j*+h-j+jueh==,andj=—- ~——  255) x+x+x+y-y usex=1andy=—
) ] Jt] 5 1=33 7160 ) y-y y=7
3
4n? 1 27 13 6 107474
256) e +musem=1andn=— — 257) 5+14—(p+m3); usem=—,and p=—
2 5 25 11 5 6655
7 11 259 -\p- +15);usep=1,andq=9
258) L —y- Y usex=2 ady=1 2 ) (a-(p-p)(p+15);use p g
y X 2 144
7 1 9 1125 18 5 243
260) SZXE; usex=—,y=—,andz=— ——— 261) m+(13—(n3+m)); usem=—andn=— ——
X 5 2 13 182 11 3 1000
11 11 551 8 3 181
262) 12+x+x-y-y usex=—,andy=— ——263) (a(14-1)-b)+a usea=—,andb=> ——
9 10 45 9 2 16
2 ' 4 4 7
264) y+y+x-x+12; usex:—g,andy:Z 265) l—4h—j;useh:—,andj == —
15 h 15 9 45
16
2 7 3 4618 3
266 2"+ xusex=—, andy== —— 267) (10(b+a))+~(a+b);usea=9,andb=—
) ) Laay=2 2% ) (10 +a) +(a+ b =

10
268) p+m(m—(p— p)); usem=2,and p=1
5
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10 2 431
269) m-— 2+(11+3—n); usem=7,andn:— —

7 336
11 1 1 119
270) 6-(3-(zy+ x)); usex=—,y=—,andz=— ——
) 6-(3-(y+ X usex="3,y=2 andz=3
3
X 1 161 2 3 21 237
= : == =2 — 272) p+(p+qg)+25usep=—,andq=— ——
271)x+(y) +y usex=> andy=2 " ) p+(p+0) p=anda="2 "
1 18
273) (3+b)(3a+a);usea==,andb== —
5 33
17 13 17
274) x+(15\y-x)+y);usex=—,andy=— ——
) x+(15(y - x) +y) e ddy=—
1 220 17
275) 7—7+10(x+z); usex=—3, andz=1 ——  276) z+ﬁ; usey=14,andz=2 —
9 9 14y 7
1 88 1 503
277) q(3+15—qm); usem=2,andq=— — 278) n—(n—n)+m2; usem=-—andn=— ——
5 25 10 3 300
9 1 2 2 3 4 81
279) x— y+ {x—-x+y)usex=—,andy=— —  280) 15x p+|\p+q°);usep=—,andq=— —
) x=y=( y) sandy=_ o ) p(pq)p8 A= o,
59 1 21 1 41470
281) (j +8h+h)+j;useh=§, andj=2 — 282) —5(b2+13); usea=—,andb== — —
7 14 a 13 7 343
108 111
283) 15° + p - pm; usem=i,and p=13 —— 284 6(y+x+5+2); usex=1, and y:E —
13 13 4 2
3 18 10986 8 67
285) (n—m)2+n+m; usem=—,andn=— ———286) 7+(x+x)—y+4; usex=—,andy=2 —
5 13 4225 5 16
y 1 5 285 3 945
287) = x(y+x)+xusex=—ady=— —— 288 +6)\g+ p+4),usep=—,andq=4 ——
) < xly+x g ady=, ) (p+6)la+p+4)usep=",andg=4 ~
1 3 27 9 1
289) 2x%y% usex==,andy=— —— 290) y+y-Ix-x+x);usex=—,andy=1 —
) 2%y sady=2 ) y+y-( ) sady=1 o
9 2 40
291) y+—(y+x); usex=12,and y=1 292) 7Tb+b+c-6; usebzg, andc=14 5
y
118
293) ((j -h)?+11) = 5: useh =2 and =7 2 2 9 32
J - ' J 5 294) x +(14x+ y); usex=2,andy=— ——
8 233
1 2 4 596
295) h—(j—j)+4—h; useh:§,andj:— 296) E+m2—p; usem=—6,n:g,an == —
3 3 n 15 5 5 225

4
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5 9 2560 12 12 18
297) 5+ —mmz;usem:—,and = — 208) o°+ (8- (p- usep=—,andgq=— —
) 5+ (p ) g adp=g ) g’ +(8-(p-0));use p Svandq=—
y 1 11 460 y 5 7 13
299) 72- =usex=—,andy=— — 300) (x- +=|iusex=— andy=— —
) NG 2 =7 ) (=)l y 3 y 6 12
9 19 13 2 45
301 +9y-17;usex=—,andy=2 — 302) 14+(j+14+hj);useh=—,and j=— —
) yx+9y oo d9Y=2 ) (; j) e adi=s o
i 1 7 1133 4 29 517
303) h+j—j- L useh="andj=— 32 304) b+171-(b-a): usea=~, andb=2>
h 16 13 3120 3 20 3
11 3 1817 15 8 315
305) (5n)* +m* usem="-,andn=— ~—— 306) (150 + %)+ (5-y);usex="—, andy=— ——
6 10 216 8 7 8
11 8 159 4 5 1 12
307) 13(x+14) - (5-y); usex="=,and y=— Jix%S) px— - uem=>andp== =
12 7 84 m m 4 7 35
7 392 17 1 829
309) x— x+=I8x+vy)lusex=—,andy=1 — 310) 4+({x—-y) +x+yusex=—,andy=— —
) (8x+y) g a@dy=1 ) 4+ (x-y) y o @dy=s
5 1 1008 2
311) (16 —-(j + | +h3;useh:—,and':— — 312) 9j+j+h—-j);useh=—,and j =18
) (16-(j + 1)) padi=g - 312 (j+i i) g ad]
164
p 3 23 1121 2 11 10 10
313 +20x—+qusep=—,andgq=— —— 314) (X=-X)"=xXx+yuex=—,andy=— —
) p g touep=gandg=o s mo ) (x-x) y 5 dy=— o
3 57
315) p+18+(m+ p+ p); usem=4,and p=— —
2 14
3 1 8
316) x((y+z)2—x); usex:E,yzl,andz:§ — 317) m+11—m—£; usem:—,andn=E —
4 2 8 m 5 3 3
13 13 21 4 2601
318) (x+x)+yxy* usex=2ady=— — 319) (x—-y+1)+y>:usex=—,andy=— ——
) (x+x)+yxy Y= 4 ) (x-y+1)+y oo M9YE5 oo
4 2 24 55
320) (q+r)~+ +0)usep=—,g=—,andr=— —
) (@+r)+ p(p+0q) p=15 a7 o o
6 25 229 1 2
321) (8(b-1)+c)+9 useb=—,andc=— ——— 322) 18(p+g°p);use p=—,andq=—
) (8(b-1)+c) - 3 cor ) 18(p +a?p) p=>,andq=
13
11 3173 324) 3x(j+16+h)+j; h=2andj=1
323) 15+2 - 2. yea=2 andp= 1 3173 ) 3] )+ Ji useh=2,and |
b a 9 198 S7
4 3 2519 5 3 49
325) 13% - x+(y+ y); usex=—,andy=— ——— 326) z><(x+z+x)+8; usex=—,andz=— ——
5 8 15 3 4 128
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24 143 1193
327) (y+x—x+y)+x; usex=—,andy=11 ——328) m+n+ 144n; usem—E andn:ﬁ —
13 12 17 17 17
3 29 131 8 15304
329 +p+p+4+q usep=—,and 330 +12;usex=2,andy=— ——
)(p p) P g P 2 a= 17 17 )255 y 5 1275
y 9 54 2 25 25 2366
331) xx=(x-13);usex=19,andy=— — 332) 7x{g+qg)+p;uep=—,andg=— ——
)X() yee - ) 7x(g+a)+p p=gpanda=__ o
12 21 5831 5 1 65
333) ° usex=—,andy=— —— 334) a~+ b+b2+a; usea=—,andb=— —
) Vs (( y)) 17’ y 11 2420 ) ( ) 9 3 36
2 22 1 62195 4 2 89
335) x+17-(y?) usex="2,andy== 336) 9+ (x+y-y) +y usex=—,andy== —
) (v?) 4y, o ) 9+ (x+y-y) +y g ady=o
m 3 3 15 9 8 117
337 -m+—+pusem=—andp=— — 338) (h+7+h-j)+j;useh=—,and j =—
) p L P Sy adp=_ ) ( i)+ pddi=g
189
339) (18(m? +3)) + n usem==, andn=16 ~>
2 32
1 13 29
340) x+({x+y)+ly—-X);usex=—,andy=— —
) x+(x+y)+(y-x g ady="- =
11
341) (x-z-2) +z usele, andz:i
2 14 2
33 1 917
342) n(17+(m+19)+m); usem=-—,andn=— ——
17 2 66
2 1 2 1 2485
343) q+15—r—; usep=—,q= 28 ,andr=— ———
p 2 19’ 4 152
8 1 211
344) 2+a- (a-c)+bjusea=1b=—,andc=— ——
7 12 96
17 25 11407 3 . 117
345) x(x+y+y+x);uex=—,andy=— ——-346) j(j+1-h)-huseh==,andj=8 ~—
18 13 2106 2 2
2 617 3
347) 5- (2+m)+n3; usem=—,andn:§ 348) 3|x - Y ;usex:E,andy:i 44994317
3 7 192 16 9 13 26996736
7 1 13 10 12 48
349) y[— - x*|;usex=1,andy== — 350) 68—8><£;usem:—,an P=77
y 2 2 m 9 11 55
3 17 11900
351 +(p®- -m)); usem=—, and —_— —
) P (p (p )) 14 = 10 23991
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2 13 429
352 X +11 - + p; use :—,and - =
) gx(p p) = prusep=andq=
157
7 1 7 3% j+(8-3)+8hjuseh=19,and j=1 ——
353) m=(5-n(5-m);usem=—,andn== — ) i+(8-3 : 152
5 2 16
10 1 13 3011
355) 18><x+(y+x—3); usex=—,andy=8 356) 9 - Y cusex=—,ady=— ——
7 126x 3 8 336
4
1 7
357) y+19-z- 5; usex:—s,yzl, andz:§ —
X 11 4 4
2 1
358) 11+ b*(a-b); usea=1, and b=
22
2 10 190
359 +3-min+ p);usem=—n=—,and p=1 ——
) (p )(n+ p) g N7 adp=1 o
2 10482 2 8
360) 2+15—x2+y; usex:i,andy:— — 361) m(n—n+m2); usem:—,andn=§ —
11 5 605 3 3 27
1 182
362) 2><10p+(q— p); useng,andq:1 363) X +x—(z—9); usex=17,andz=11 11
z
10
13 1 105 2 11 176
364) 15y+(11+x+ y); usex=—,andy=— 365) 16y2><5; usey=—,andz=— ——
7 3 277 y 3 6 9
5 1 89 7 56
366) b+a+10+2-b;usea=—,andb=— — 367) x—-y+17y-xusex=1,andy=— —
7 2 7 10 5
k 27 459 4 20 9076
368) —(6 - (k—-K)); usej=§,andk=— — 369) m£+9+p;usem:—,and p:—O —
j 17 14 77 13 19 17 4199
20 5 9899 7 1 29
370) 19lg+q+ p?iusep=—,andgq=— ——  371) (y?+7)+(x+x);usex=— andy== —
)(qqp)pll 973 Lo ) (Y2 +7) = (x+x) pady=2
1 23 2
372) 12-(b- a+(a+a))usea==,andb=1 - 373) 10 LY. usele—s,an _2 sz
8 2 2 X 11 11 13
8 16 4104 9 23 1639301
374) x+x-(x-y):usex=2,andy="— ——— 375) (12+b)+(a+a’);usea=—, andb=> oo
7 17 2023 19 18 71604
. . 3 .4 4825 14 4 6 75
376) 12+h+13; useh=—and j=— —— 377) y—-y+— +20;usex=—,andy=— —
4 3 2304 X 5 5 2
2 433 12 1363
378) 2—m+§; usem=—9,andn=§ — 379) p+ p—i; usep:§,andq:— —
n 15 4 15 50 4 11 550
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17 17 17
380) p+10-(10+ p-m);usem="",and p="> =

12 12
3 3 99
381) (x-(x-2))(y-x);usex==,y=18,andz=" —
2 4 8
1 1 16842815
382) 12°-(b-a)% usea=—,andb=— —
19 18 116964
2 21 12 1631
383) (9-m+q))+4-p)iusem=—, p=—,andq=—- ———
) (9-(m+q)+(4-p) 1o PT g @A=L
1 14 2863 10 396
384) 72+ y+xusex=—,andy=— —— 385) 4y8+5;usex:1, andy=— ——
3 13 39 y 19 19
21 7 6 28903013
386 +q)°-(r+qusep="2,q=—,andr=— ———
)(p q) ( q) P 16 q 6 19 2101248
1 88725 19 19757
387) (11+h)*+(3-j); useh:—g, and | -9 ——-27388) 19b* - (b + a); usea=>, andb =2 1977
16 7 1024 6 10 300
3 11 3362
389) m’g®+ p;usem=—, p=—,andq=7 ——
) a P 5 P 7 g 175
1 37 3 10064
390) y-Ixiz+y+Xx);ueex=— y=—,andz=— —
)y (( y )) 4 y 19 17 3067
11 14 7 413 7 7
391) (X+x)+y—-—usex=—,andy=— —— 392 -6lx—X);usex=—,andy=2 —
)()y16 g ady=g ) xy - 6(x - x) g ady=2
n 6 7 77 1 15
393) n+— -(n-nj;usem=—,andn=— —— 394 5+ plm-1));usem=6,and p=— —
) m( ) c 20 120 ) p(5+ p(m-1)) P=3 7,
7 163 1
395) L +12x M usem=L andn=1 > 396) p°-(q+14-q);use p=6,andq=—
m n 8 14 2
22
8 787 8 9 14
397) 20+-(6-j) -(h=j);useh=1,and j=— —398) y+|y+Vy)(x+4), usex=—, andy=— —
) 20+ (6-j) —(h-}) =5 207 ) y=(y+y)x+4) cady=o
27 2 17 23
399) (yz)z—(x—x); usex=—andy=1 400) (b+a)+a—(b—b); usea=—,andb=— —
20 5 15 6
1
1 233 1 4 249
401) (13mn? +23)+musem=2,andn== —— 402) x(y+y+9-Vy?); usex=—,andy=— ——
) ( ) 3 18 ) X(y+y+9-y?) pady=c o
. 1 .1 181
403) 3O+h—J—(J+j—h);useh:§,andj:E Y
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404) (m+6) +m? - (p+m); Usemzé'a”d ng iiig
405) 2420~ y) - 2 usey =", andz=5
406) qx (17 +q) + p- p* usep=1,andq:£ Aj;?
407) x+y+x-(x+y)+y; U%Xz%'andyzl% i;:
408) y- (y(8-x)) + 22% usex:%, and y=15 1491;935
409) (j(h+h)+K) = 21j; useh==, j ==, and k=0 22

137 " 27 11 3003
410) @+ (12(a+c- b)) usea=1,b=—2, andc== —

21 2 62

16  z 2 191
411) — +— +y,usey=2,andz=— ——
) , T T 11 2

26 7
212) i—(h+(j-h) =(28-20): useh==2and j =2 —
) j=(h+(j-h)=( )); use adi=2

10 1 1835
413) p+m+ p+ +mjusem=—,andp=-— ——
) P p+ plp+m) 11 g 12 1584

_39 4212

N9
414) (18m(n+n))v(n m), usem—zo,andn o 173

23 5 2035
41 2) - 2 : =— =— —
5) (yy) ( O+x) +y; use X 12,andy 6 2367

q 7 5 11
416) — —(p-(g-(p+p)))usep=——,andq=— —
) 4 (p=(a-(p+p)usep=—7,andq=2 =
1 41 7 500 1 27 769
217) 2L _(x- ) usex=F andy=—— 20 418) 15+ 2 +y+x-y; usex= o, and y=8
18y 27 30 21 y 22 44
T\ 2 i 2
419)£+Jf ;usehzﬁ,andj=§@ 420) 2 +j+7j;useh=1,and | =7
78 \j 27 13 1053 h
105
1 1 13417 1 74855
421) a+b2(14—2b); usea=3—, andb=— —— 422) 11 13y+x—l;usex:§, andy=— ———
29 7 9947 23 29 6 2001
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423) (25-m?) +n - (14 -n); usemzl,andnzﬂ 1436
5 15 105

424) (p+ p+ p) + (m(p + 10)); usemz% andp=_ "~

23 38 154743
425) x(y+ 9) +x+—usex=14, andy=—
y 23 874

5 17690
426 +(q-12)% +24: == andg=21 ——
) (p+0q)+(q-12)° +24; use p g add .

1 33

Y . _16
427) 26(x+2)(z+ y); usex—ll,y—l, andz= 5 853

115316135

4
428) x— y?+702°% usex=—,and y=2
3 86487102

12 3 52 58539
429) 19y —-|y—- x+(z+vy));usex=—,y=—, andz=— ——
) 19y - (y (z+y) Y= o 4130

259

27 7
430) a+19(b+a)—9+a; usea=—andb=— ——
14 4 4

7 29 7471261
431) 17° - E—qz; usep=—,andq=—

4 9530 26100

432) (h+j-j)+h+h-j;useh=21,andj=1
21

9 1503
433) (3y)* = (x+10) - x; == ady=2 ——
) (3y)? + (x+10) - x; use x o and y 1

434) (6+1)(p+18+m- p); usem=1, and p=1—53

133
29 43 12 493
435) (n-n)*+——; usen=—,and p=— ——
27p 30 17 324

10 38 7198
436 8+ 17-(y-x)): usex=—,andy=— ——
) X+ (y ¥ (y X)) Hse X 21 y 25 7707

27 37 4093
437) 32(y+ x) - 5; usex=—,andy=— ———
X 23 21 161

37 37
438 “(p=(p-12)) -q =2l andg=2 >~
) (p+q)=(p-(p-12)) -qusep Sy dA=2
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_11 4247

23
439) 17 +q- + p)+29p; use p=—, and
) q- (p+ p)+29p; use p = s o

28 5 1582
440) (7(x +26)) = (20(y + 19)); usex ==, and y=> ——
) (70x+26)) = (20(y + 19)); use x 25" Y=Y 3375

29 14 391
1 24 - - 2 . =—, d - _
441) ( Y(X Y)) Yy, use X 8 anay 27 63

1 7 15752
442) b+b—a+a+(a+24); usea=—,andb=— ———
7 5 5915

215

443) 20(x+(y-x) - y)-y;usex=1,and y = e

N|o

444) x+30(x +y) - 3% usex—;—"g and y = g 2;33445) (m+m)+ m(6—n2);usem:§,andn:2

4

X 11 2932 21 5
446) 9+— +y+y,usex=2,andy=— —— 447) 8-1l{p+p)+—;usem=—,and p=— —
) 42 yry y 13 273 ) (p p) m 3 P 15 3

5 85

y—§, andz=—

448) (410-2)) +z - (y +x); use x = 7 16 112

OO|\I

n 19 1461
449) m*+n+nx— usem=1andn=— — —
1 25 625

19 17 5440
450) x - x+(17(9-y)) = x use x="=, and y =-
) x=x (17l y))xuxls =9 &7

451) (26 - (j +h)) + (h+h+30); useh:ﬂ, and j _3 3769
30 22 5467

4 143655
19 1444

452) 21><——6y usex=1andy=
y

25 17 525471
453) x+XxX+y+ (810— x); usex=—,andy=—
13 13 136565

4 871
454) 2j°+h-j? ,useh—g and j =17 Yy

9 125

q=§,andr:—

455) |g° - 29pr: use p = B
)(q q) p p= > 10 1044

U‘I|OO

4 13 2 26 5 12975
456) (b-b%(a-a)+b;usea=—, andb=—> 457) px P (m+29); usem="2, and p=—
13 25 p 17 16 4352

1
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y ) 20 277 P (. 11 8595
458) 23 - =+ x+x);usex=1,andy=— — 459) — - +p-qhusep=14,andg=— ——
) . (x+x) Y= )q (q?+ p-q); use p A=, Siee

9 27 3447
460) (15x(27 — x — sy usex=—,andy=— ——
) ( X( X y)) ¥, ise X 20 y 14 40

y? 2882

11 b 5
461) x[23-x- 2—|iusex="=,andy=2 ——— 462) ax—(b-ab);usea=—,andb=> ——
y 13 169 a 8 5 200

8
463) n-n+m? - (16 - 8); usem:9,andn:§

73
19 776141
464) x - (23 - (17— 17) + x); usex=29,andz=—
30 27000

28 9 25
465) (p-21(m-m)) = p’; =— andp=—
) (p (m m)) p~; usem 2 and p = Bl

466) 27—(5 - y—(y—y)); usex=1,ady=1
y

27

18r* 34 2736 1 11 3091
yuseq=—,andr=2 —— 468) yxﬁ+11;usex=—,andy=— —
19 17 S5y 4 14 280

467)

13 3 457165
469 + 3 + g+ p)uep=—,andg=—
) (p+a®+p)+(g+p);usep : 0= 25 Suoses

470) 32+z—y—23; usey=2,andz=2
1
16 137

471) b+11+a—(a—a)—a; usea:E,andb:— —
9 11 11

L 23 . 25 713
472) h-h=(j+j-j+j)useh="",and j == —
12 19 600

473) 20+ (26(j +K)) xz—s; use j :g, andk=1 -~

10 27 2059
474) x—(x-— 30)+vy; =— andy=— ——
) X (x x)+(y+ ) y; use X 1 and y T %

_ 20 25396

29 121361 8 p\? 3
—| ;usem=—,and p= —
m 2 11 5445

n m 5
475) m+— -m+—;usem=—,andn=— =
) n 11 28 4466070 3% 35

1
477) 24—m—(2— ﬂ); usem=1—:, andn=12 >
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12 14 11324
478) x+x—(13y2)+13;usex:—,andy o —
7 23 3703

13 2704 39 1958
479) y*(x + x X+Xx):usex=— andy=2 —— 480) x°—-xy": use x =2, and
) Y (x+ x)(x + x) 5 dy o1 ) v Y0 e

9 99 19 17 556990921
a81) L(27-0)- Pusep=—",andg=2 - 482) y2+(x-y)+19 usex= ", andy=- o
28 q 20 560 16 19 28094464

483) x+9y+(25(x— y)); usex=%, andy=— ——

484) ((p—m)(19+6—14))+m; useng—z, and p=27 7;::3

. 3 5 4197291
485) 15-(j +10) - (h¥)% useh=—,and j==~ — ——
23 4 1119364

: - ; = :i :Z %
486) (y+2)v(y(10 z)+x),usex—1,y 11,andz c 1

2 2962

487) (27y)? + x— (x - 1, and
) @7y x-x- y) wsex=1,and y =2 2%

55 _ 9 57717
488 6+25) = (1 =2 andr=— 2
) @+6+29)« (1417 useq = 29" M1 o009

489) n-— (8(n—n))+(21—m); usem:%, andn=1

1
1 577
490) x* +—+16 x;usex=—,andy=1 ——
y 6’ 36

_ 27 297025
22 13178

491) (26-y)*+ (x+27-y); usex:%, and

11 7 10 6279
492 +x+ +z usex=—,y=—,andz=— ——
) o y 10 y= 20 11 2420

493) ¢+ (b(a - c + 15h)); usea=1b=-2 andc=—o 26
23 17 13785
3 152
494 -4 30 8 andp=— —=
) (m- 4= o0+ g wem=s,aa p= 3 22
. . . 11
495) h=(h-j)-(j+h-j);useh=1,and j =5 5
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496) (28—y)+(24—x—(y+ y)); usex:1—73, and y=10 2:

221
497) 8m-n+ 14+ (11 +n); usem=, andn=>
5 2 50
4 1 385 29241
498) 10(m+7n)—m+23; usem=—,andn=— 499) (z3y2)+z; usey=—,andz=19 ————
3 9 400
1 4 278
500 +y+x\y—22x); usex=—,and y=—
) (y+y+x)(y-22x pady=2 o
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